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WORD OF THE DAY

TRITE

(ADJECTIVE): (fer8-fue): hackneyed

Synonyms: banal, clichéd
Antonyms: original
Example Sentence:

This point may now seem obvious and

trite.



WORD OF THE DAY IMAGE
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SBI MEMORY BASED PAPER
DISCUSSION




Read the following sentence and determine
whether there is any error in it. The error, if
any, will be in one part of the sentence. If the

sentence is error-free, then select ‘No Error’ as
your answer.



Q1. Despite of the rain, the parade went(A)/on
uninterrupted which was followed by(B)/
the President’s address and other formal
(C)/ festivities of the Republic Day. (D)

1. A

2.B

3.C

4.D

S. No Error

Correct Option - 1



Q2. “Lisa is more stronger than(A)/ her
opponent”, said the coach(B)/ during the
press briefing(C)/ ahead of the Asian
Games.(D)

1. A

2.B

3.C

4.D

S. No Error

Correct Option - 1



Q3. I lost the bag in which I had my all documents,
certificates, and academic records. /(A) I have
a job interview tomorrow where I need all
these things, /(B) and I have no clue what will
happen. I lodged /(C) a police complaint, but
within this short time, nothing is possible. /(D)
1. A
2.B
3.C
4.D

Correct Option - 1
S. No error




Q4. The fabric is as softer as cotton, but it is
/(A) not pure cotton. That's why she got
so many /(B) allergic reactions on her
face after using that mask /(C) and is now
under proper medication and care. /(D)

1. A

2.B

3.C

4.D

S. No error

Correct Option - 1



Q5. After the(A)/ rise, the (B)/cases started
(C)/dropping sudden.(D)./ No Error(E)
1. A
2.B
3.C
4.D
S.E

Correct Option - 4



Q6. Kiva has loaned out (A) nearly a quarter
of (B) a billion dollars to (C) small and
medium businesses for 2005. (D)

1. (A)

2. (B)

3.(0)

4. (D)

5. No error

Correct Option - 4



A passage is given below with five blanks
labelled (A)-(E). Below the passage, four
options are given for each blank. Choose
the word that fits each blank most
appropriately in the context of the passage,
and mark the corresponding answer



The end of World War II was not just the end of a

war, but also the _(A) of a tense and dynamic
period that affected society on all levels. This
“postwar” period, as it became known, shaped the
world as we know it today; likewise, the period was
shaped itself both by the war that had _ (B) it, and
the powerful forces that surrounded it. As the energy
of fundamentally different ideologies—Communism
and Democracy—collided with advances in science
such as the nuclear bomb, a dangerous environment
ensued that created an atmosphere of (C)
throughout the world and especially, within America.



This atmosphere is known broadly as the “Cold
War.” While the Cold War played out step-by-
step between the United States and the Soviet
Union, it was __ (D) __ playing out in the everyday

lives of the masses within their borders. Paranoia,
nevertheless, was not an effect that followed
immediately after the close of the War. In fact, the
United States had enjoyed an extended period of
economic _ (E)  during the war, and following
the war, the U.S. economy continued with great
strength for more than a decade.



The end of World War II was not just the end of a war,
but also the (A) of a tense and dynamic period that
affected society on all levels. This “postwar” period, as it
became known, shaped the world as we know it today;
likewise, the period was shaped itself both by the war that
had _(B) it, and the powerful forces that surrounded it.

7. Which of the following words most appropriately fits the
blank labelled (A)?

1. Significant 2. Advantage 3. Beginning

4. Successfully S. Staff

Correct Option - 3



The end of World War II was not just the end of a war,

but also the (A) of a tense and dynamic period that
affected society on all levels. This “postwar” period, as it
became known, shaped the world as we know it today;
likewise, the period was shaped itself both by the war that
had _(B) it, and the powerful forces that surrounded it.
8. Which of the following words most appropriately fits the

blank labelled (B)?
1. Preceded 2. Damper 3. Subsequent
4. Arming S. Static

Correct Option - 1



As the energy of fundamentally different ideologies—
Communism and Democracy—collided with advances in
science such as the nuclear bomb, a dangerous
environment ensued that created an atmosphere of

__(©)_ throughout the world and especially, within
America.

9. Which of the following words most appropriately fits the

blank labelled (C)?
1. Public 2. Radical 3. Politically
4. Paranoia S. Symbolic

Correct Option - 4



This atmosphere is known broadly as the “Cold War.”
While the Cold War played out step-by-step between the
United States and the Soviet Union, it was (D)  playing
out in the everyday lives of the masses within their
borders.

10. Which of the following words most appropriately fits the

blank labelled (D)?
1. Warheads 2. Separated 3. Simultaneously
4. Hiding S. Seek

Correct Option - 3



In fact, the United States had enjoyed an extended
period of economic _(E) during the war, and
following the war, the U.S. economy continued
with great strength for more than a decade.

11. Which of the following words most appropriately fits

the blank labelled (E)?
1. Expansion 2. Retrospect
3. Behind 4. Repressive
S. Subject

Correct Option - 1



In the following sentence, four words or phrases

have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick
up that part and mark its number. If there are no
errors in the bold parts, mark (5) i.e. No error as

the answer.



Q12. The analysis must be deeper, if we are to
gain any further conclutions.

1. analysis

2. deeper

3. gain

4. conclutions

5. no error

Correct Option - 4



Q13. The playurs need to practice in order to
improve their technique.

1. playurs

2. practice

3. improve

4. technique

5. no error

Correct Option - 1



Q14. I admired the creativity which
previaled among the young
writers.

1. admired

2. creativity

3. previaled

4. writers

5. no error

Correct Option - 3



Q15. It was intented to encourage her, but it
was more a distraction.

1. intented

2. encourage

3. more

4. distraction

5. no error

Correct Option - 1



Rearrange the following five segments (A), (B),

(C), (D) and (E) in the proper sequence to form
a meaningful paragraph; then answer the
questions given below them.



A. NPCIL is a dividend-paying company with the highest
credit rating of AAA by CRISIL and CARE

B. At present, NPCIL operates 22 nuclear power reactors with
an installed capacity of 6780 MW.

C. NPCIL 1is responsible for siting, design, construction,
commissioning and operation of nuclear power reactors.

D. Nuclear Power Corporation of India Limited (NPCIL),
formed in 1987, is a Public Sector Enterprise under the
administrative control of Department of Atomic Energy
(DAE).

E. Safety is given overriding priority in all facets of nuclear

power reactors.



16. Which is the first sentence according to
the paragraph?

1. A

2.B

3.C

4.D

S. E

Correct Option - 4



17. Which is the second sentence according to
the passage?

1. A

2.B

3.C

4.D

S.E

Correct Option - 1



18. Which is the third sentence according to
the paragraph?

1. A

2.B

3.C

4.D

S. E

Correct Option - 3



19. Which is the fourth sentence according to
the paragraph?

1. A

2.B

3.C

4.D

S. E

Correct Option - 5



20. Which is the fifth sentence according to
the paragraph?

1. A

2.B

3.C

4.D

S. E

Correct Option - 2
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I' HOME WORK ANSWER

CAUTIOUS

A. He was such a reckless and cautious driver that

nobody wanted to get in his car.

B. The cautious zebra failed to notice the approaching
lion and was mindlessly jumping around in the
field.

C. Her cautious attitude irked her mother as she knew
that one day it would get her into trouble.

1.BothAand B 2.BothBandC 3.0OnlyB

4. Only C S. None of the above.



i)

They defennded their country against

the invaders.
1. defennded
2. country
3. against
4. invaders

5. no error






